Stoichiometry Pretest

1. Determine all mole ratios from the equation:  S8 + 8O2 ( 8SO2
2. What is the limiting reactant (reagent)?
3. What is the definition of % yield?  How is this represented mathematically?

4. Given:  AgNO3 +    Cu (  Ag +   Cu(NO3)2.  If 20. mole of AgNO3 is reacted, how many mol of Ag metal is produced?

5. Given:  CH4 +  O2  (  CO2 +  H2O.  If 100. g of CH4 is reacted with excess oxygen, how many mol of H2O are produced?

6. Given:    H2O2 (  H2O + O2.   If 250.0 mol of H2O are produced, how many grams of O2 are produced?

7. Given:   NaOH + HCl (  NaCl + H2O.   If 25.0 g of NaCl are prodced from this reaction, how many grams of HCl were reacted?

8. For the reaction 2Na + Cl2 ( 2NaCl, how many grams of sodium chloride can be produced from 500. g each of sodium and chlorine?
9. For the reaction Cl2 + 2KBr ( 2KCl + Br2, calculate the percent yield if 200. g of chlorine react with excess potassium bromide to produce 410. g of bromine.
Answers:

1) 1mol S8 : 8 mol O2
     1 mol S8 : 8 mol SO2
      8 mol O2 : 8 mol SO2
Each can also be written vice versa

2) The reagent that runs out first.

3) % Yield = 100 x (Actual Yield/Theoretical Yield)

4) 20. Mol of Ag

5) 12.5 mol H2O

6) 4000. g of O2
7) 15.6 g of HCl

8) 824 g NaCl

9) 91.0% Yield
